1
X
x = 100% y=0
2
2.1
(1]
1.0MPa
OmL

p. = 882.47 kg/m®

qvL

x 100 % y

qu
On — Ome

X = Oms _

O O

s = 5.6808 kg/m®

gvL = dmL/ L
Qvs = qms/Os

m3/h

310004
200070

10 Qnm



R, =

Qvs
PL
Ps
Ry =99.93%
2.2
1 X=95%
2 X<95%
95%
1 b

[2

m3/h

kg/m®
kg/m?

(1]

5%

Qv Ry
Qs _ O _ 1
Qv Ovs + O &.h_l_l
P s
qil-: On — s — 1 _
qu qu qu/qm
S
Ps (=141
po X
X=95%
1l a




3.1

FIQ303

0.4MPa ¢

160



FC6000

FIQ303

2.5MPa 300

|

D “
29

FIQ303
171
11
DN350 “ i
S 5
FC6000
FC6000
4 \
V]_ Vl
3'2 =& »>
2
6
FIQO1 2.5 t/h

F1Q02 0.75t/h



@
0.7MPa
N
DN150 - DN100
D -
6
FIQ02
1t/h
2.5t/h 2
3.3 =& 9
(F10)
\38/
W
.,
4
41 X 95%
X 95%
4.1.1

Qv

31

FIQO1



Qv —

Ki —

11

x=1-y

13

41.2

qV max

qm max

qm max

f max

(3]

m3/h

11

3.6f

q, =

Kt
P/s
P/L
Ps
qu = qV ' ps
X = Q, - s
O
_ QP
Um X
_ Q, " P
W=7
0 100% 0  Om max
Qv max
qvmax = qmmax /pd
m%h
kg/h
kg/m?®
1 1 q
f o= K= = Ammax |
max 3'6 quaX t 3'6 pd t
P/s
16 f max
P
On = Ai * O max L
P

10

qu

11

12

13

14

15

16

17



o —— kg/m?®

A — 0 100%
100% oy
P =P, Pt
Pr =Py I X
o —— kg/m?®
Pst —— kg/m?
y
4.1.3
411 4.1.2
4.2 X=95%
421
X 95%
X 95%
X 95%
8
4.2.2

18



4.3 Y

X 100%

3.3

X 95%

95%

X 95%

95%



. FC6000

621 1
200070
021-66600941x219
021-66600874
13901926182@139.com

. 2003
, 1988

2008



